
CE480−4A_1

wavelength λ /nm
400 500 600 700

D65

0,0

2,5

5,0

7,5

10

HPE_CIEF cone sensitivity Ysum=100
l−F02_L,s(λ)=B11x

−
F02_L,s(λ)+B12y

−
F02_L,s(λ)

+B13z
−

F02_L,s(λ)
B1j 0,2105 0,8550 −0,0396λ=570

D65:Σl−F02_L,s(λ)=97,42
xF02_L,s=0,2144
yF02_L,s=0,2621
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wavelength λ /nm
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HPE_CIEF cone sensitivity Ysum=100
l−F02_L,s(λ)=B11x

−
F02_L,s(λ)+B12y

−
F02_L,s(λ)

+B13z
−

F02_L,s(λ)
B1j 0,2105 0,8550 −0,0396λ=570

D50:Σl−F02_L,s(λ)=97,94
xF02_L,s=0,2422
yF02_L,s=0,3033
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wavelength λ /nm
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HPE_CIEF cone sensitivity Ysum=100
l−F02_L,s(λ)=B11x

−
F02_L,s(λ)+B12y

−
F02_L,s(λ)

+B13z
−

F02_L,s(λ)
B1j 0,2105 0,8550 −0,0396λ=570

P40:Σl−F02_L,s(λ)=99,71
xF02_L,s=0,2749
yF02_L,s=0,3325
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wavelength λ /nm
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HPE_CIEF cone sensitivity Ysum=100
l−F02_L,s(λ)=B11x

−
F02_L,s(λ)+B12y

−
F02_L,s(λ)

+B13z
−

F02_L,s(λ)
B1j 0,2105 0,8550 −0,0396λ=570

A00:Σl−F02_L,s(λ)=105,26
xF02_L,s=0,3513
yF02_L,s=0,3969
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wavelength λ /nm
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HPE_CIEF cone sensitivity Ysum=100
l−F02_L,s(λ)=B11x

−
F02_L,s(λ)+B12y

−
F02_L,s(λ)

+B13z
−

F02_L,s(λ)
B1j 0,2105 0,8550 −0,0396λ=570

E00:Σl−F02_L,s(λ)=99,96
xF02_L,s=0,2320
yF02_L,s=0,2683
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wavelength λ /nm
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HPE_CIEF cone sensitivity Ysum=100
l−F02_L,s(λ)=B11x

−
F02_L,s(λ)+B12y

−
F02_L,s(λ)

+B13z
−

F02_L,s(λ)
B1j 0,2105 0,8550 −0,0396λ=570

C00:Σl−F02_L,s(λ)=98,58
xF02_L,s=0,2136
yF02_L,s=0,2486
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wavelength λ /nm
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HPE_CIEF cone sensitivity Ysum=100
l−F02_L,s(λ)=B11x

−
F02_L,s(λ)+B12y

−
F02_L,s(λ)

+B13z
−

F02_L,s(λ)
B1j 0,2105 0,8550 −0,0396λ=570

P00:Σl−F02_L,s(λ)=101,06
xF02_L,s=0,2561
yF02_L,s=0,2974
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wavelength λ /nm
400 500 600 700
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HPE_CIEF cone sensitivity Ysum=100
l−F02_L,s(λ)=B11x

−
F02_L,s(λ)+B12y

−
F02_L,s(λ)

+B13z
−

F02_L,s(λ)
B1j 0,2105 0,8550 −0,0396λ=570

Q00:Σl−F02_L,s(λ)=99,51
xF02_L,s=0,2110
yF02_L,s=0,2389


